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1 To transmit maximum power by a belt drive, it is necessary that : -
Maximum tension in the belt =......... X centrifugal tension in the belt;

What is the correct option for the blank space ?

M 1 ‘ @ 2
. 1 , .
3) 3 @ 3 . .

TF Ug A G Sftemew s TR s ¥g 9% snavas & R
73 # e T = x T Y oWHEl A |

R ©W % R o P A ¥ 7

1) 1 @ 2

B 3 @ 3

2 The relation between the pitch 'p' and pitch circle diameter "I’ of chain is

given by :
(1) p=Dsin (18;") 2) | P =Dsin [9; )
. {120° . {360°
3) p=Dsm[ T ) @ p=Dsm-( T ) .

Where ' T' is the number of teeth.

a1 W R p wd e gu aw D % s wey R e ¥

.(.1)' P'=Dsin[l_?o) o (2) P=Dsin[9,§oj

® p=Dia(Z) p_=D_si-n[3_6;’°]

© www.upscstudymaterials.com
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Which relation is incorrect for module of gear 'm' ?

N m= Pitch Circle diameter N me= circular pitch
M " Number of teeth @) R
iT
@) ™ Diametral Pitch ) ™= Circular pitch
T & m 'w % fog s ey e 37
. M@ ™ ) T RE
O "o 0 @ "
1 T
G) mz_"_mm-q— 4) m=ﬁaﬁa

Which one of the following option is correct to describe the speed ratio of
a simple gear train ?

Nl _ Ii Nl _TZ
® N @ ¥
2 2 2 1
M_ 15 M _ 4
3) N, - ; 4) N, T
‘Where :

N, = Revowunions per ‘mintie of ariving gear
N2 = Revolutions per minute of driven gear
T, = Number of teeth on driving gear
T, = Number of teeth on driven gear

TH W PR 37 %1 SR < &g B N Q@ @ e @@ e

M_4 N _5
O o ® %7
2 2 2 1
) N _ 4
3 ¥oNT O A
2 1 2 2

i

WEl .

N, = aws fieR & =% wie fme
N, = aiftrs fre % % Wiy B
T1_=mﬁm1u1.ﬁ?i’fa§’r¥i@r'
T2=ﬂ1ﬁ1ﬁﬁmwﬁa‘iﬁﬁ@'
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S When there is a reduction in the amplitude of vibrations over every cycle of
vibration, then the body is said to have :

(1) Free vibrations (2) Forced vibrations

(3) Damped vibrations (4) Torsional vibrations
mm%mﬁmwwﬁwﬁﬁ = five & F= &t
T | .

() g T @ O T

(3) oHlw B @) ds mma

6 Two shafts A and B are made of same material. The shaft 4 is solid and its
diameter is D. The shaft B is hollow with outer dlameter D and inner

D : _
diameter EX I the maximum torque transmitted by shaft A is 'T, what will

be the maximum torque transmitted by the shaft B 7

T T
o 3 @ 7

15 16,
® 16! AT

R 4 anm@rﬁﬁh%mmAé\H%qa‘maﬁD ¥

|m3@am%ﬁﬂwmmeqﬁariaﬂaw2%mﬁmA

0 uthe atfteew ds ¢ Tﬁ?ﬁ&ﬂﬁBmQﬁﬁaa{ﬁlﬁq
.wé‘l‘h‘?

M3 @ 7
R T N OB TR
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7. Shock absorber in vehicles is used for :
(1) avsorbing the shock energyy
(2) dissipating the shock energy
(3) increasing the shock energy
4) producing_th_e___ ;_sho_ck energy
vl ¥ gt Tee w wE R o
(1)‘ gl S @1 oraviifd & & foig
(2) i@ s W A % oy
() 9® Sl W P & g
(@) oi® Tl B TAA HE FH W

8 Spring .Ind;ex.of a coil spring is :
(1) Ratio of coil diameter to wire diameter
(2) Ratio of wire diameter to coil diameter
(3) Value of stiffness
(4) Value of quality of spring
T Festia T &1 1 g §
(1) FU=ul I Td dR a9 & AU
(2) UR W T FISAl A HF YR
(3) ST @1 AN

(4) Reir < 7o w1 A=

9  Which one of the following option is based on 'Pascal's Law' ?

(1) Hydraulic braking system (2} Carburettor

(3) Fluid flywheel (4) Engine Lubrication System
Pt 4 & i e e & P T amaRa & 7
W) wmimE @ ede
¢) e wmEw (@) o S e
274y 6  [Contd...
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10  Bernoulii's theorem:is based on the law of conservation of B

(1) Energy @) Mass
(3) Momentum 4 Work
Tl R __ HEm Fem we eamaRa ¥

1) &= ) =W

() W @) =

In a centrifugal pump, Q = discharge, H = head, N = speed. Then the specific

1
- speed will be :
. NJH | \ HIN
@) o4 2 ot
N !H3a"4 N Q
G3) —o @ ?;/7;
T S T PR = 0, M = B, e = v, b g R @
Bl
1 NH o HJN
| () 034 o ) o7
S /- NyD
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Ina double-~acting reciprocating pump, there are :
{1} ns suction walve and one'.delivery valve
(2) Two suction valves and two delivery valves
(3) One suction valve and two delivery valves

(49) Two suction valves and one delivery valve

s fa—fem wermd vy ¥ B R

(1)* U 969 awd 9 U& TRE a1 ‘
(2) [ U I 9 @ TR 9

(3) UF U 95T 9 & YRR 9

(@) L OO IRT T TH GG qreE

For any reversible process, the change in entropy of the system and its

surroundings is :

(1) Negative (2) Zero

(3) Positive (4) Infinite

Rt whrar s F i e su% wRAw A Gl § wRad Ak
(1) FMED @ T=

@) @ o=

The value of Universal Gas constant is :
(1) 8.314 kJ/kg mole °K

(2) 8.314 Joule/kg mole °K

(3) 0.8314 kJ/kg mole °K

(4) 83.14 Joule/kg mole °K

ud g Retis @1 we ¥

(1) 8.314 freisre/Rem e ol

(2)  8.314 s/ A oFfvam

(G) 0.8314 Rechem/Rem s o

@ £3.14 E/REm T SR

27 Al | - 8 ) | [ Contd...
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The first type of perpetual motion machine is the one, which :
(1) Works without any external energy o

" (2) Does not work without external energy

(3) Can completely convert the heat given into work

(4). Can not completely convert the heat given into work

WO GET B e A9, 98 w9 F S

Q) e Bl e o & ¥

@ e Pk e oot % B ah d

() WEE H T H R P E A e § qiaiid st e

) WEE @ TE ST w O w0 d o § afiahia 8 s eadi @

The second law of thermodynamics defines :

(1) Enthalpy (2) Entropy

 (3) Heat | (4) Work

worhe @ i frag sfonia s @
(1) R @) T
(3) & 4

A Carnot cycle consists of :

(1) Two constant volume processes and two isothermal processes
(2) Two isothermal processes and two adiabatic processes

(3) Two isothermal processes and two constant pressure processes

(4) Two constant volume processes and two constant pressure processes

_@mﬁzwwé\m%

(1) ﬁhwuﬂawﬁmﬁm%
(Z)ﬁwﬁrmama’rﬁ@wm& |

 - '_(3) a‘:mmﬁruwi‘tama’rmmmﬂ

"":_-_(4) a‘rﬁmaﬂwmama‘rﬁwmmﬁ

27. A] S e {Contd...
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Air is compressed by a double-stage compreséor {with complete intercooling),

.

- from I bar presseie, 27°C temperature to 36 bar .pressure, Wit should

be the interstage pressure for the minimum work of the compressor ?
(1) 18 bar (2) 18.5 bar
() 6 bar (4 9 bar

w T-ue ag v lifts g (@l fiaw & @), 1 obar 9|, 27°C 9
|, 9 B 36 bar T uh wAISa fat W ¥ wEiRE & <EOW &d
3g TSl 9 B AF F SN MY ?

(1) 18 bar (2) 18.5 bar

(3) 6 bar (@ 9 bar

The comfort conditions in air-conditioning are :
(1) 0°C DBT and 0% RH

(2) 22°C DBT and 50% RH

(3) 30°C DBT and 80% RH

(4) 40°C DBT and 90% RH

ARTGEAT T gAry argerad SR E

(1) 0°C = & O UF 0% 9NF HEa
(2) 22°C I < W9 UF 50% W& S
() 30°C = we§ °M TF 80% WUH S
(4) 40°C I & T9 TF 90% WHUE 3wl

‘One Ton of Refrigeration' is approximately equal to :
a 1kw @) 25 kW

() 3.5 kW | (4) 5 kW

TR W TH T WIRT GG B ¥

(1) 1 kW | @ 25 kW

G) 35kWw @ 5%W

2747 1w ~ [Contd...
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In which of the following type of engine, the mlet and exhaust valves are
fitted, in the cylinder head ? : '

(1) F-head @) Thead

(3) L-head (4 T-head

“ﬁqwﬁwm%mﬁmammﬁaﬁm@maﬂ

fee foar € 37

(1) F-ghd ) I-9n§

(3) L-sing @) T-oird

Which one of the following statements is falSe“‘}' N

(1) Intwo stroke engine, the working cycle is completed in one revolution -

of crank,

(2) Thermal efficiency of two stroke engine is less than four stroke
engine.

() There are ports in two stroke engines.

__(4) Thermal efficiency of diesel engine is less than petrol engme

ﬁwﬁ%aﬁwwmm%?

(1) %@%mmmﬂwaﬁ%mwﬁwam%t

-_(2) %@ﬁmaﬁaﬁaww'@ﬁm%maﬁ%l
'__(3) %ﬁﬁwﬁm(ﬂé}@f&%l

o ";(4) @ﬁﬂmﬁmﬁﬂaﬁﬂﬁamamﬁ% y

- www,upscstudymaterials.com.
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23 In a four stmk"e engme the speed of the engme is N rp m. The speed
-of the cam’ shm- will ‘be : C :

¢y % rpm ' (2) Nrpm
3) 2 Nrpm (4) 4 Nrpm

@ﬁg@ﬁéﬁﬁﬁéﬁﬁﬁﬂ%l@ﬂﬁyﬁtﬁﬁz% | ¥ g @ I
Bl :

@ %wuﬁrﬁaﬁ @) N =% Wiy fFe
(3) 2 N uwm wir e 4) 4 N =% W e

24 Select the comrect option after considering the following statements :

I — Fly wheel of four-stroke engine is lighter as compared to that of
two-stroke engine of the same power.

I — Fly wheel of multi-cylinder engine is heavier as compared to
that, of single-cvlinder engine of the same power,

The options are as follows :

(1) 1-True, II-Faise (2) I and II - Both True

(3) I and I - Both False (4) I - False, II -True

fr Bl W R w w6 e @ giig

I - 999 9 & g% dod & g ¥ 9gEis 39 & WE
@ Tl ol ¥

- wmmﬁﬁ%wﬁqﬁmsmaﬁwﬁag%mm
w T R Al e ¥

e PrmgEr 3
NORRE: 5 ) I@II-'@H’IW_
G) 1wl -3F s (@ T-owe I W«
27 A} o 12 o '[Contd....
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25 Which one of the following is not a function of piston- rings ?

(1) To work as sliding seal’ between piston. and cylinder

2 'fo control the lubrication between the piston and cylinder walls
(3')- To assist the cooling of piston

(4) To assist the cooling of 'cylinder _liner
frdddrmed Rea et s ¥ 8 2 - .

1) T 7 R $ 9w @ holw S B ad sen

?) frew 7 Rever & Qe & T S B Prife wem
(3) frew % R e &I

(@) Tt R % doew ¥ sema w60

Select the correct option for functions of the déflector on piston of two
stroke engines : ‘o e

I~ To deflect the fresh charge towards top at the time of entrance.
I — To force out the burnt gases towards exhaust port.

I - To increase the strength of piston fop.

The options are as follows :

(1) Tand I (@ Mand I

(3) Iand I 4 I, Hand IO

s St & e o Rews & Wt g wd Rew ghi
I - 9 & Wy & 999 oK @ R Rafte oo |

S - o g A W W oaR # el wde o

o - ﬁm%acr&ﬂmaﬁam&famml

'famﬁmgm%

'*mlwn...v'(mn@m

.:.(3) I'Q‘EIII L K (4) L H@ 1]1 g
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27 Which one of the following governing method is used in petrol

engines 7
(1) Hit and Miss governing (2) Qualitative governing

(3) Quantitative gqyerning (4) Combination governing

W o F P F ¥ ah efufeem Rl e @ o 7

() ua 9 g% JAtatEsw | (2) e st
(3) W SRR (4) ugT stRrEe

28 .. Valve-overlapping happens :

(1) Completely before T.D.C.

(2) Completely after T.D.C.

(3) Partially before TD.C. and partially after T.D.C.
“(4) Completely before BD.C.

ara-sifrenfas ofta & ¥ :

Q) i AdA o

@) i AW F ugE

) divm: AA{/. ¥ ¢ 3 oivm: AN F UER

@) vy S9d ¥ @

29 By applying choke in 2 petrol engine, the engine gets -

(1) Very lean mixture (?) Lean mixture
(3) Rich mixture (4) Extra spark energy
YW g9 ¥ O WM W, 399 & B ®
(1) &< #m fersor @ & frsm
@ TP (@) ofife g
ma
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_ 30 The water pump generally emponed for coolmg of engme of a

vehicle is :

(1) Gear type | (2) Vane type

() Centrifugal type (4) Reciprocating type
w%maﬂﬁm%mm HE W AR AN A 9 ERT
(1) fik wEwR @ ¥ war "

() UFE TER (4) wEPTER Wi

31 In motor-cycles fitted with four-stroke engines, - - mechanism
is used to operate the valves.

(1) Chain drive (2) Gear drive

(3) Belt drive (4) Push rod _

GG T T WX Tl ¥ A e iy e
& v fEar ¥ |

(1) W Q@ @ Pt aw

() = e @ gu =

32 Which one of the following is the correct sequence ?

(1) Crank gear — Cam gear — Tappet — Push Rod —» Rocker Arm |

(2) Crank gear — Cam gear — Push Rod — Tappet. — Rocker Arm

(3) Cam gear —» Crank gear — Push Rod —s Tappet — Rocker Arm

' @)  Crank gear — Cam gear — Push Rod — Rocker Arm — Tappet
fr & & @ H?Fr g ¥ ?

) aﬁﬁﬁma%qﬁlﬂ'(e%ﬂzggﬂﬁg_}ffmmﬁ

@ PR B AR o ogw s o B o e ot
‘.(3) %mﬁmeaﬁﬁmagﬂm—)%az%wanﬁ-
_""--(4) awﬁlma%qﬁmagmm’awm_}%&zj"_
z-;A} o s [Cmd

. www.upscstudymaterials.ecom- -~
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33 In individual pump fuel injection system of diesel engine, wha is the
fupcuon of fuel feed pump 7

(1) To supply correct quantity of diesel to the injector
(2) To produce high pressure for the mjectlon of diesel
(3) To supply diesel from tank to injection pump

(4) To supply diesel to the injector at correct time

W I B YOS W U OFETw worell ¥ §eN WOw W @ w@r o
wrf B ¥

(1) Sw B T A B AR q@ wgEE
(2) O AT ¥Y IeA T SAA BT

@) o B W A FEAW T GE GG
@ o & € g W oA % A

34 Aluminium cylinder block engines require :
(1) Cast Iron Liners (2) Aluminium Liners
(3) Brass Liners (4) Liners not required
TyfiPr fevst s $o § amevada A ¥
(1) ol Wiz g @ (2 UEHhEY W B
() Wow a5 @ (4 R W AEyEEa T Ei

35 Firng order of six cylinder in-line engine is :
() 1-6-3-5-2-4

@ 1-4-3-2-6-5

G) 1-3-6-2-4-5

@ 1-5-3-6-2-4

B famvet wa-tEE 59 # T/T-HH ¥
M 1-6-3-5-2-4

@ 1-4-3-2-6-5

(3) 1-3-6-2-4-5

@ 1-5-3-6-2-4

27A) | 16 o o [ Contd...
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36 "The thermostat valve of engine cooling system of vehicle A
Select the correct option for the blank space above X |
(1) remains closed while starting the engine from cold coodition
(2) opens as soon as the engine is started from cold condition

(3) opens as soon as the engine is started and then closed after
some Jtime .

(4) remains closed when the engine is not runhing and always remains
open when the engine is running |

“qET W e MewT TR @ awedt S I
wlie e T ¥y Gl R gRd

(1) 3o omEn ¥ 99 9N W O 9 @A §

Q) & s=e ¥ S O B@ & A oW §

(3) s‘mwaﬂ?fﬁgﬁmtﬁﬂwaﬂﬂaﬁﬁas‘rm%
@) éﬁﬁﬂﬁﬁaﬁwﬁﬁ_w%@ﬁmﬂaﬂtﬁﬂsﬁmwm%

~37 What is the advantage of using Pressure Cap' on the radiator 7’
(1) Evaporation of coolant is increased by its use. |
(2) It prevents formation of vacuum in the system.

(3). By using this,. atmospheric pressure is always maintained ii1_ the
gystem,

@ Boiling point temperature of the coolant is decreased by _i'_ts._ use.

WX W aﬁ—aﬁrfﬁm%ﬂ W FA A

.(1) ﬁ%m%mmmw%l

'(z)aawmﬁﬁahmaﬁamp | __
. -_(3) mmama@aa@@mmww%n

_ -(4) sﬂ%m%ﬁaﬁmmmmmﬁm%l _
2’ﬂ'Al T [Contd.."
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38 Raudiztor tubes are generally made of :

() Steel - - {2) Cast-iron
@) Plastic (4) Brass
WA e s o o ¥

(1) =™ @) owEr w
(@) wiew y @ dew

39  Generally which one of the following lubrication system is used in a

car engine ?
(1) Petroil () Splash

(3) Pressure | (4) Dry sunmip

W U SR SN 4 R § @ fd ST wonel wged ddr ¥ 2
(1) W (2) 3vo=

@) =« @) T

40 Thermodynamic processes in diesel cycle are :
(1) Two isentropic, one constant volume, one constant pressure
(2) Two isentropic and two isothermal
(3) Two isentropic and two constant volume

(4) Two isentropic and two constant pressure
S o § s T ¥
1) @ e, @ R oo, w Rex aw
@ ¥ &l @ %mart?r
@) A W TR @ R o

@) oW @ﬁ'qﬁ.a’rﬁmaﬁ

2741 ‘ ~ [Contd...
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41  Which one of the following has zero cetane number ?
(1) o —methylnaphthaiene (2) n-heptane
(3) Tetra ethyl lead (4) Tri-methyl butane -
frer 4 @ Powar 9T oiw = T T 7
(1) o —PragaweeE (2) oA
G) W TuEw W @) 7P @

42 What is the advantage of using high octane number ﬁJel in petrol car ?
(1) Less detonatmn tendency (2) Less hannﬁ,ll ennssmns

(3) Low fuel consumption (4) Less wear and tear of engine
W IR A T AR oF AW o & o Y T A b7
(1) w0 afteeet w9 (z)mqmﬁmamﬁh _'
() @ W @ @) maﬁmfﬁaﬁzaw

43 Cetane number is measure of :
(1) Auto-ignition’ teinperaturs’ (2 Viscosity ' of fuel
(3) Calorific value of fuel (4) Ignition quality of fuel
W ofF o | -
(1) @ WouwT aHsd o 2 fuT W FEE W
G) I AW (@) T N oEwE TR W

. 44  Octane number of iso-octane is :

@ 9230 @ 10
@ o T '(4) 96
anza‘r-m@-rr m ana%-rr T ¥ ¢ |
O 9230 B '(2) 100
e o @
ZU\] o1 [Contd
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45 1Which one of the following iilln(ﬂ)t a part of MPFI petrol engire ? . _ _.
(1) Fuel injector | (2) Carburettor
(3) MAP sensor (4) Electronic Control Unit
et ¥ 9 e MPFI 939 S5 &1 Wi T8 ¥ 7
@) oAy @) ==
(3) MAP HI% @) Wit Fww o8

46 In MPFI system, the fuel is injected into the :
(1) Carburettor (2) Intake manifold
(3) Cylinder (4) Before air cleaner
MPFI womel! &, §u oF:dw Rem wmem ¥ -
Q) ader 3 2y WAy Rl

G) Rwver § (4)3111,%%1&'

47 Pressure in the fuel rail of CRDI diesel engine is approximately equal

to
(1) 10 MPa (2) 25 MPa
(3) 100 MPa (4) 1000 MPa

CRDI 9 SO W SHF YW A < @IHT BT §

(1) 10 0 T @ 25 ¥ T
(3)_ 100 - I @) 1000 -fmr TR
27 A} - 20 - i Contd...
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48- In 4 spark ignition engine, the increase of ‘compression ratio will :
(1) “'increase knocking tendency | |
(2) reduce knocking tendency
(3) no effect on knocking
(4) reduce pre-ignition effect | _
TF Wi YouwT §o ¥, wrfled o we q -
(1) emweT wgfa s
(2) owEpET ygte &9 Rl
() T W BE wwEm TE m
(4 E-TaEE TNE SY e
49 For a given engine setting and fuel, what is meant by Highest Useful
Compression Ratio ?
(1) The critical compression ratio, above which knock occurs.
(2) The critical compression ratio, at which the eﬁ'imﬂncv of the engme
is highest. '
(3) The highest compression ratio, at which the engine develops maximum
power.
(4) The highest compression ratio at which maximum heat is obtained
by combustion of the fuel.
foodt Tl do Wi od $um ¥ ooam S wefieT emu ¥ w@
awd ¥ v
.(1)33%8@3?@13%1@1%%“&%@31@ |
@ azmﬁmawﬁwagmamwmaﬁawmﬂ:maﬁﬁlf
:-'(3)%ﬁmmmmwmmﬂﬁﬁw
KRt - N I S |
'-(4) %WW&@WWW@HW%WWW o
3"??'?“ o S .
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50 The correct sequence of combustion étages in CI Engine is :
(1) Ignition delay period — Controlled combustion — Uncontrolled
combustion — After burning
(2) Ignition delay period — After buming — Controlled combustion
- — Uncontrolled combustion
(3) Tenition delay period — Uncontrolled combustion — After burning
— Controiled combustion
(4) Ignition delay period — Uncontrolled combustion -—» Controlled
combustion — After burning
ClL 9% ¥ &1 =Xl & @& &9 ¢ ¢
(1) wa o o Tbm o o ofmbe v 5 uww ==
(2) waed e o g T o FEbe @ o afefr e
(3) wouww faww o afEbE @ 5 wwm T o frife <
@) ‘wRe R 2 ot v C Pt ws L e
31 During the combustion process in compression-ignition engines, increasing
which of the following parameter would increase the delay period ?
(I) Compression ratio (2) Intake temperature
(3) Intake pressure . (4) Injection advance angle
iisT g S A <o whew % @R P ¥ @ few waw @ el
¥ fwa e s @
(1) @A agaE (2) &Y TN
() W& T I & T £ B o
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52 By which one of the following action, diesel knock can not be
prevented ?

M
@)
€)
)

by keeping the compression ratio high
by increasing the intake air pressure

by decreasing the temperature of the combustion chamber

"— .
by increasing the injection pressure of diesel

P W A e B T Sow owRRs Wt & Q@ W gwar 7

Q
@
(3)
@

afvw wder sgua @ W
WAy qg I 961 B
T TF B AGAN "I G

9 B STA:AUY T T Y

53 In case of petrol erging, at ﬁm":ing :

1
2
)
4

Weak fuel-air ratio is needed.
Rich fuel-air ratio is needed.
Chemically correct fuel-air ratio is. needed.

Any fuel-air ratio will do.

W 59 & fwg, geema ¥ wHg

(D

_. >
»

- '__(4).

27 A] |

AT - O B o A ¥

T %ﬁﬁémg aagmaa?raimﬂw Al %z.'
Wﬂﬁmmﬁﬂﬁﬁw—a@mﬁﬁmwéﬁ%l
R “ﬁ'§'ﬂ7f~?=ﬂ§ G]ﬂﬂﬁ[ﬂ?ﬂ'll
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54 Which cne of the following reason is not the reason of pre-xgmtlon in
‘Enp{ mﬂnls ﬁnnqr'ec U :

(1) Exhaust valve too hot
(2) Carbon deposition in combustion chamber
(3) Spark plug too hot

* 40 Low compression ratio .

fea & 9 o e W weEew d9 0 e @ s
T ¥

(1) afoea Feem T
(2) T® BH § FET AW ST
(3) ofaa WE
@ T el arue

55 For same compression. ratio) ; |
(1) Otto cycle is less efficient than diesel cycle.
(2) Otto cycle is more efficient than diesel cycle.
(3) Otto and diesel cycle are equally efficient.
(4) Efficiency depends upon working substance.
e e & e -
(1) ot wp @ <@ S99 T W gET § B9 Gl B
) aﬁ%ﬁa&m'@ﬁﬁwﬁwﬁm.ﬁ-%l
(@) o W U AW wh B T ORI ol ¥
@) el T w ek ah b

274y Y S © . [Contd...
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56 The components of secondary ignition circuit of battery ignition
system are @ - - '
(1)- Battery; contact breaker, distributor.
(2) Contact breaker, condenser, distributor -
(3) Secondary winding, contact breaker, condensér
) 'Secondar;f' winding, distributor, spark plﬁg
I woue a9 & fade weuew ufg % oEEe ¥ o
a). =, ovh Redew, R
(@) wuh Rrdew, duie, Rt
@) Tadae poedl, vk fades, dula
@ Tl gued, R, @

57 The components of primary ignition circuit, of battery ignition system
- are @

(1) Contact breaker, Condenser, Distributor cap
(2) Contact breaker, Ignition coil, Spark plug
(3) Contact breaker, Ignition switch, Condenser

(4) Contact breaker, Ignition switch, Rotor

420wt @ % P S wRer % o ¥

() s e, W, R

@) wosh Preden, st gredt, b
@ b P, e R,

Al s
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58 Consider the follomng statements :

(@) Heat dlSSlpatlon path of hard spark plug is longﬁr ag compared to. o

that of soft spark plug.

(I) Hard spark plug is used in cold operating conditions

(I) Soft spark plug is used in high speed engines.

Which of the above statements are correct ?

(f) (D and (D) (2) (1) and (IIT)

() () and (II) @ (@), (D) and (1D

frr woel R aife -

O @R Wb w1 & Fon gy At g3 W o @ ogan ¥ a@wn

G 1

) I W o B Maw aiaes asRfafm ¥ @i R s 3

(D 73 @i @ & o4 o9 & go § wEr Rea s ¥

grila ¥ & @ & TAT wd §

O O () () & ()

3) ) () @ O, () g (I
59 The primary winding of ignition coil consist of :

(1) few turns of thin wire

(2) many turns of thin wire

(3) few turns of thick wire

(4) many turns of thick wire

T gedl @ e e ¥ e 3

(1) & IR % F& AR

| (2) W IR ¥ wga ¥ g

@) W A F go AR

-m%m%wwﬁ I
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60

(1) 1500 - (2) 25
(3) *50 @ 100 -
61 The basic requirement of a good combustion chamber is -
(1) No turbulence
(2) Low compression ratio
(3) High power output and high thermal eﬂimency '
(4) Low volumetric efficiency S
0% oS B9 @ B YT Eyaddl €
(1) = Rew i
@ =7 i g
@) = whw frln o s anf e
@ A srahe g
62  Which one of the following statement is the most api:ropriate in reference
to the "Surface - Volume Ratio" of S.I. Engine combustion chambers ?
(I) It should be small :
(2) It should be large : _
(3) It should be small in the End gas region and _l@e in rest of
the region
(4) It should be large in the End gas region and small in rest of
the region.
S S1 mmm%“mﬂm m”%wﬁﬁﬁwﬁ%aﬂw'
T T v ot vege ¥ 7
(1) =% w9 B ARyl
@) uwE siw & aRar . -
3) usmﬁqfﬁvﬂa%aﬁmwﬁw%aﬁaﬁmﬁmw%q:_
"(4)%mﬁnm%aaﬁmmwﬁw%aﬁmﬁmaﬁql
AL IConta..
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How many power strokes per second shall take place in a_four-stroke

- petrol. engine rotating at 3000 r.p.m., 7.

(1) 1500 © 25

(3) 50 @) 100

3000 rp.m. W YR TH qg;: @wﬂj\amﬁu&rmfaﬂ%mﬁa
I B 7
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63 Consider the following statements regarding the C.L engine combustion
_ chambers :

(@ Only partial combustzon of fuel takes place in pre-combustxon i
chambers.

(@ In swirl-combustion chamber, swirl is generated by directing the flow
of air during it's entry to the cylinder.

() In swirl-combustion chamber, the swirl is proportional to the engine

speed. .
Select the correct option for True statemem-s from the above :
(1) (D) and (M (2) () and (11T
(3) (@ and (1) @ @), (o) and (1D

C.I.mmﬁﬁfﬁiaﬁaﬁﬁwmﬁwﬁaﬂﬁq=
1)) Ti—mmaﬁéwméﬁaa{ﬁhmmé’ré\m%l

an gﬁat—aﬁwfffhﬁmﬁﬁﬂ%warg%mﬁﬁiﬁﬁ s
v gr ey wae e s ¥ |

amgﬁ'm-asﬂmifﬁatgmw%mﬁmﬁﬁm%l
swa F & w @A &g @é Rae i

1) O @ (2) (D wd (M

G) O @ (O, () &

64 In open-combustion chamber of a diesel engine :
(1) Fuel injected info a separate turbulence chamber.
(2) Fuel injected in cavity provided at the top of piston.
(3) Partial combustion of fuel before main combustion chamber.

@) Combustion of fuel takes place outside the cylinder.
Ao E99 ¥ g T @@ ¥

(1) us s foger wa 4 fE o ART w &)

7)) ﬁm%ﬁﬁﬂﬂ@ﬁﬁ%ﬁ-%ﬁﬂm%l
@) Tex T aw ¥ @ I @ iR T B §
@) EF T Tt REUST § A B E

27 A1 28 o | Contd...
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65 . Most suitable combustion chamber type for multi fuel capability is :

)
@
3)
@
T
(1
(3)

Open combustion chamber
Bath tub type combustion cMer
M-combustion chiuhber -
Pfe—combustion chamber

B B (R O
GEl BT B (2) TH=T THERX B T&T &W
M-G&7 & @ yd-seT w™

66 The parameter to be kept constant during Morse test is :

0y
2

Load on the engine
Speed of the engine

(3) Brake power of the engine

(4) Temperature of exhaust gases' .'

A qew & dRM Rax war w9 9w e ¥

1) 9 W A @ A W

() =W @ aF W @y Ry AT cacaEA

67 What is varied to keep the arm horizontal, after initial adjustment, while

measuring the brake power of engine by Proney Brake dynamometer ?

(1)
)
€)
(4)

Weights hanged on the arm

Position of weight hanged on the arm
Speed of the engine

Quantity of fuel supplied to the engine

%qm,gwaﬁaﬁﬁ.w%%-ﬁqmﬂﬁaﬁam'm% ?

V)
@
L B3)
@

g W W) T MR
g W wew T Rk
A e A

. Www.upscstudymaterials.com .
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68 . For which of the following engines a Proney brake dynamometer is
" gererally used to measure the brake power ?

L ¢} Low speed engine (2) High power engine
(3) High speed engine (4) Warnkle rotary engine

e doml ¥ QA R 3% af AN ¥ R oy WEY dw s
v e s ¥ ?_

) T oAw ) aamﬁﬁrsﬁﬁ .
() = I oA (4) < goe e
69 If

Pn = mean effective pressure

L = Length of stroke

N = Engine speed (revolutions per second)
A = Bore area

The indicated power of four stroke engine will be :

1) pyL-AN @ py L A'%

| N
3) 2p, L'AN @) pyL A'?
Ty
p, = WA WA T
L = Q% @ wErE
N = 59 9 (%% Wid qehos)
A = 9% 6N

_ R | N
() pm_'L°A-N ) pm.L. A'?
©) It AN @ ey
27A] .. S R _[C})‘nt'd...
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7 If the bore diaineter, stroke length and dampréssion ratio of a single cylinder -

‘engine are 7 cm, 8 cm and 8 respectively, what will be it's clearance

volume ?°
(1) 308 cmd | (@ 385 cm?
3) 44 cmd | 4 50.2 cm3

B 7 AW, 8 W ud 8 &, A WA @@y ST T AW ?

(1) 308 & ¥ 2) 38.5 ¥ ¥
(3) 44 ¥ ¥ @ 502 a7 ¥

71 Following data of a four cylinder petrol engine are given :
Brake Power = 40 kW, |
Fuel consumption = 0.2 kg/min

Calorific value of fuel

46000 kl/kg,
1600 kJ/min

I

Heat in cooling water
What will be the combined heat losses in. exhaust gases; radiation etc."?
(1) 5200 k)/min (2) 5680 kJ/min . - > -

(3) 5040 k¥/min (4) 3600 k¥/min

@ AR feest 9w dom & Fo oifes R g ¥

a% iR = 40 Rl

a9 @ = 0.2 Rpuyre

S 1 wElG T = 46000 e/ R

aﬁaa wq m = 1600 fesigw/fre
- Frenfe A, f‘qﬁﬂﬂ@lﬁﬁﬂgﬂaﬁq%wzﬁw@ﬁ ?
| '(1) 5200 %Trﬁvm[&ﬁz | (2) 5680 ﬁmﬁqjﬂr&m
o 3) ___5_(_)_40 ﬁﬁhﬁﬁrfﬁﬁ'{ | @ 3_6_09 faﬁﬂqafﬁm
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72 Which one. of the following is the correct sequence for the air-standard
L .,mclencms ‘of different gas power cycles at & deﬁmte co*npresswn ratio ?

. (1) Yoo =~ Ndiesel = Ndual (2) Notto > Ndual > Ndiesel

3)  Ngieser > Notto > Ndual (4) Ndual > Notto > Ndiesel

%ﬁﬁwaﬁmmwﬁﬁﬁhmﬁaaﬁﬁwaw@
s - L

D) Mgz > Nevgm > N (2 Mz > Nag > Nerm

- (B)  Maem > Maiia > M @) Mg >Maga > Ndram

73  Select the correct option for increasing order of the following efficiencies
of an engine :

() Brake thermal efficiency

@ Air standard efficiency

) oGicaiid el dSciercy

The options are as follows :

1)y @O, (@D, (1 @ (@, ), am

(3 b, @, @ 4 @b, O, d)

uH 9 N FeT cmaell % Sed gW W eg w8 Rew g
O % qiT FED

)y gfw wd g

® O@m @ Omm
e @manm @ @,®a
_“-27:3.1 o | o .-{Contd.....-..'
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74 Power developed msnde the englne cylmders is called :

(1) Indicated power (2) Brake power
(3) Friction power (4) Thermal power
o ¥ fuevsy § SRk qie @ewml € ¢

1) ofwm o . @ %= e

@) =i s (@) i e

75 Unit of brake specific fuel consumption is :

(1) ke-hrkW @@ kehokwW

(3) kWhrkg (4)  kg/kW-hr

3% fifire $o9 wow & @ ¥

() fem-avwer-feeae ) ﬁﬁmvum[mhan
() P aveyfem @ fomfeiare v

76 1200 C.C., 4-Cylinder engine has :
(1) Swept volume of each cylinder = 300 C.C.
(2) Total volume of each cyl_i.nder = 300 C.C.
~(3) Total volume of each cylinder = 1200 C.C.

(4) Swept volume of each cylinder = 1200 C.C.
1200%?(1-’11 4l%|dmsaeﬁelm%
1)) mfaequﬁa A - 300 ¥4
) sra'rla; Redtver @1 gw T = 300 Ad.
-. O m ﬁlﬁﬂﬁ B G A ;'1200 ve?rz?r.
'. (4) m ‘Rﬁm £l eﬁl-cr ST = 1200 Iﬁ“{ﬁ

27 A] T T " [Contd...
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77 Indicated mean efféctive pressure is :

Area of indicator diagram X spring scale

M Length of base of indicator diagram
) ' Area of indicator diagram
@ Length of base of indicator diagram X spring scale
Length of base of indicator diagram x spring scale
&) Area of indicator diagram
Area of indicator diagram
@)

Length of base of indicator diagram
g e W T e ¥

T RO AT EAGA BRI SR
(1) G AN & SNYR B A8

Y% ARG BT FA6BT
@) YO AR o S B TIE X BAFT T

_ B NG & AR H A X HA GE&AT
) e ALY H FHA

| q\aﬂaaﬁ@.m GERT
“ B I @ b YR B T

27 A] - 34
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78 Which of the following are the reasons of very black smoke in diesel
engine ?
(D Using fuel of low cetane number

() Overloading of the engine

() Fuel-Air mixture being rich

The options are ‘as follows : _ _ *
(1) (D and (W) @ () and ()
(3) (D and (II) @) (D, () and (D

fre 4 % DR S o A oafre ew 9T ¥ erw ¥ ?
I R e T e — |

@M 7 & sl

(D) fu-ag Ree w1 wge e

Praer Fremgare &

O @ @ @ @ &
G @ w @ O, () T (m)

79  Presently the Emission Standards in force for 4-wheel petrol vehicles in
Rajasthan are :

(1) Bharat Stage - I (2) Bharat Stage -
(3) Bharat Stage - 10 . (4) Bharat Stage -

aﬁmﬁuﬁm&;ﬁa@%ﬁmwﬁwaﬂﬁhw%

(1)°qr{aévr—1 | (Z)wﬂaéﬁ'f~n
- 27_A} 3'.'._" ) - 35 - | o o | .[IC:"-’.“_“&’?'I‘
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8¢ Maich List - A with List - B and select the correct option :

List - A (Measurement) yist - B (Method)

(I) Smoke | (P) Air Box

" (@) Exhaust Emission (Q) Burette

(IM) Fuel consumption (R) Bosch Smoke meter
. (IV) Air consumption (S) Spectros::opic analysis

-Options are as follows :

(1)
@
()
@

(D-R), AD-(8), (ID~(Q), (IV)-(P)
(D-R), AD-(P), GIM)~(8), IV)-(Q)
@-(S), ID-(P), AM)-(Q), (IV)-(R)
(D-(®), I)-(8), (IN-(R), AIV)HQ)

T-A & §H-B ¥ aw Bm oy @ w8 R gh

A () B (i)
@ Yo/ w® ' (P) T =W
@ P s @ ==
) 3o @ uw R) e THEIT
(V) =g &9 (8) WxRIwIfS ﬁéﬁﬁw
faweq Femga &
M) @-®), AD-(3), Q). AV)-(P)
@  (O-®), (D-P), ()-(S), AV)Q)
3 (O(S), (D-(P), (AD-Q), AV)-R®)
@ O-), (DS, (I)-R), AVHQ)
| | 36 '_ B [.Contd...
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In which one of the following smoke meter, the sample of emission gas
is passed through a tube, which has a fight source at one end and photo-
cells at the other end ?

(1) Bosch smoke meter (2) Hartridge smoke meter

(3) Van Brand smoke meter (4) Gas Analyser B
ﬁwﬁ%%«g&nmﬁaﬁmﬁwh%ﬂ@aﬁ@ﬁra{aﬁ%
éﬂ?‘a%ﬁlm% ﬁiﬂﬂi@mﬂmﬂhﬁlﬁaﬁmﬂﬁa—ﬂﬁﬁ
(1) < Yo =il @ wks o R

@) ¥ wiT gom Wi @ % v

What is the correct, sequence of power transmission in front engine
(transverse mounted) front wheel drive vehicle ?

(1) Clutch, gear box, differential, drive-axle

(é) Clutch, gear box, propeller shaft, differential

(3) Drive-axle, clutch, gear box, wheels

(4) Clutch gear box, drive-axle, differential

M g5 (ot i) mw\%mwamﬁmﬁavﬁwmaﬁm
|7

(1) wr, fay aw, hlvad, see—veaq

() wmE, feR amw, Wer e, REhew

() IEI-UTEE, FE, PEY W, WU

@) wm, frR S99, wRe-ueww, e

When both the rear wheels of a rear wheel drive vehicle are jacked up
and gears are in neutral position, turning one rear wheel forward will cause
the other rear wheel to : :

(1) tumn forward ' (2) turn backward
(3) make tum in any direction (4) remain stationary -

mqmvmu&mwm%ﬁaﬁﬁnﬁﬁﬁﬁaﬁmmﬂW'
@ T P v emen ¥ @, a‘rfﬁaﬁwu&qﬁwf&mﬁgﬂﬁ
o W e g e - |

() om Rw ¥ @m0 --(2_)‘: vaiﬁ.fraan- A g

*(3; Wﬁmﬁqﬁm @ Rew @

! 27, A! S S .. _[Contd..

- www:upscstudymaterials.com




84

85

86

www.upscstudymaterials.com

In which of the following vehicle, transfer-case is a must ?

(1) 4axz : {2) 4x4
(3) 6x2 @) x4
P & @ few amw ¥ giw-ew o afedd ¥ 7
1 4x2 | (2) 4x4
(3) 6x2 4y 6x4

Which type of rear axle is used in heavy vehicles ?

(1) Semi - floating (2) Three quarter - floating
(3) Fully - ﬂoating (4) Open axle
wr&a@ﬁﬁsammh&mgnwmm% ?
1) o - @ a"tené L

@) T - W 4) g gEe

"Tata Nano" car is a
(1) Front engine Front wheel drive
(2) Front engine Rear wheel drive
(3) Rear engine Rear wheel drive
(4) Rear engine Front wheel drive
“TE W B E

) emsf‘memqfémam.

(2) om 9 Uy wheWr e

(3) WY IV UIY Ul e

-(4) masaﬁwqﬁmw

27A] s - [Contd.
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87 “When a veh1cie is negotlahng a turn, inside the dlﬁ‘erentlal (with two
planet-gears),

Select the correct optlon for the blank space above :
(1) the relative motion of the two Sun-gears is zero

(2) Sun-gears and Crown-wheel move in the dlrectlons opp051te to
~ each other

(3) the relative motipn of Planet—gears and Sun-gears -i.s ZeTo

@) botﬁ the Planet-gears move in the directions opposite to each other
‘ST 0% e Bt i e R e & o bR (@ el )
% efey I

ot faw w3y @l R gh

(1) A w-PEd @ e T g ot b

@ R ¥ wo-Aw ey ¥ Riode fow F ofy w@ &
(3) whe Pl 7 we-fied @ ane R sRr B ¥

@ A NePR  gEr ¥ Rl R ¥ o e ¥

88 What is the main advantage of inverted tooth chain ?

(1) Noise less unning ('?‘) Low pkediiction cost (

(3) More strength (4) Lubrication not_required

ﬁmaﬁ%ﬂmg@mw%?' -
1) 9R B v @ W= S A

() ot wmet @ @m:r aq® T

89 Two shafts A and B are made of same material Dlaméter of shaft B is
half the diameter of shaft A. Torsionat strength of shaﬁ A, as compared
to shaft B, will be : : _ '

(1) 2 times ' : (2) 4 -times
@) US times (@) 8 times

%QWAHBWWQ%%MWBEIWWA%W
'.-mw%lsmBﬁgaﬂTff amAa%qaamezfs‘ﬁﬁ |

-'(1) 21]31 : . (2) 4{;?11
o .._._() 1:'83:;1 @ 8 T |
A A] RE R L [ Contd... -
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90 Which one of the following is an intensive property of a thermodymmic

systein 7 -

(1) Volume (2) Mass

(3) Energy @) Specific volume 1
fr A ¥ v e wwrRe O @ aE-FRte st 7 |
M awmE @ s |
(3) S 4) fafite smaa=

91 The vehicle ride will be comfortable, if : ]‘:
(1) Sprung weight is kept minimum |
(2) Unsprung weight is kept minimum ' [
(3) Gross vehicle weight is kept minimum |
(4) Unsprung weight is kept maximum
AEH gEl SIFRES &M, 49fE -
(1) &1 X I @S
@ BHEI"T HY o @n WY |
(3) WH 9ET WR <A Y@ WY : ;

(4) oFSIT 9R ofuEed @ WY

92 With which type of suspension system, the space available in engine
compartment is maximum ?

(1) Double wishbone type (2) Mc Pherson‘§ strut type

(3) Rigid axle type @) Vertical guide type
%amﬁaﬁsﬁ_m%mum.mﬁwwa&m
LARE -
VU S ——

¢) T W TR @ ww e TR
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93 Whlch one of the follomng clutch is generally used in motor-cycles ?
(1) . Single disc dry“type (2) Multi disc diy type
(3) Single disc wet type (4) Multi disc wet type
Ae-wEedt ¥ W fra ¥ ¥ wwa www wgE o €7
(1) @d 9 I R (2) GO IF TR
() W T o TR @) I oE R

94 Out of the following, which action takes place in the clutch, when the
clutch pedal is depressed ?

(1) Pressure plate comes to rest
(2) Clutch plate moves towards the fly-wheel
(3) Pressure plate moves away from the fly-wheel

(4) Clutch plate slows down to the speed of the fly-wheel

WY o9 USW 9l W ¥ oAl 999 ¥ P ¥ @ oWd few uba
T E P

(1) <@ 9= Rec @ st ¥
@ @@ @ v A W s R b
@) T W wE & R M 9w O & e ¥

95 Included angle is equal-to ;
(1) Camber + Caster
. (2) Camber + Steering axis inclination
(3) Caster + Steering axis- inclination _
@ Camber + Caster + Steermg axis mchnation
gl B TR dr ¥
m %ﬁ'{ + BT
@ W+@aﬁira¥aw
| '___(3) m+@uﬁwam§m

"(4)%m+%rm+@aﬁrrmaaﬂa s
27 A] E R B 7 [Contd..
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Steering mechanism of cars should be :
(1; Reversible « - = = . (2) Semi - reversible
() 100% itreversible (4) Directionally unstable

) i 0 s

(3) 100% wfaa-cﬁq | @ Fows ' ¥ R

If the_intersectién point of included angle is located above the road surfice,
the tendency of the front wheels will be to : |

(1) toedin (2) toe-out
(3) move straight 4) become unstable

uﬁﬂﬁqﬁﬁwwuﬁi@aﬁgmm%wﬂwﬁ amq&ﬁr
@ wafa enfr o |

o Gea o oa "

@G WMwmHR @ aftay s o

Which one of the foll(.)v\.:iﬂng .pair is not correctly matched ?I

(1) Clutch - Diaphragrh spring -

(2) Steering gear box. - Rack and pinion

(3) Transmission gear box - Bevel gears

(4) Differential - Hypoid gear

B gell F & e T wgh v @ B e T ¥ 7
(1) w9 - sEwm™ R _ |

@ Wt g st - @ T R

(3) uRwo R §fed - &9 f?m

(_4) feshttra — erguige Pray

27 Al | 2 [ Contd...
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Consider the folldwing‘sté.tements :

(@ Double de—clutchmg is necessary while changmg gears in synchromesh
gear box. '

(D Al the gears in constant - mesh gear box are of spur type.
dm Maxlmum wear and tear takes place in shdmg mesh gear box.

&

Select the correct option for the False statemenis ﬁom the above :
(1) @ and (D) @ @ and ()

@ @ad@ @ ®, Q) and (@

e waE W ﬁinr G

® Riwve P diww ¥ PR e T saw et v b

- ﬂm—ﬁﬂrﬁma‘fﬂrﬁw&ﬁmmm%éﬁ%l

100

Gﬂ)mﬁwﬂmmﬁzﬁz—ﬁdmms‘lﬁ%l
m##awméaﬁmaﬁ?

'm®@®-ﬂhg(n@@m

®oFm @ oowm

Which one of the following compbnent is not mounted on the
‘Back-plate’ ?

(1) Brake shoes (2) Wheel cylinder |

@) Adjuster @ Master oylinder

_ﬁ!ﬂrﬂﬁaﬁﬂmw aw'ﬁz Wﬂé’rmw?

W W @) & e

27 AL T - 7 [Contd..
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Which one of the follovwng is not a part of the 'unloader valve' used in
air brakes ? :

(1) Brake valve (2) Unloader plunger
(3.) Non-refurn valve (4) Govemor valve

ﬁwﬁﬁﬁwwméﬁﬁu&wﬁ%aﬁ SRR T B TH
LI

(1) 3% I | ¢ (2) IFEST WS

@) ¥R 4w @ TR e

What is the main function of 'Anti Braking system' 7

(1) To reduce the braking efficiency

(2) To bring the wheels to rest as soon as brakes are applied

(3) To prevent the wheels from skidding when the brakes are applied
(4) To reduce the wear of the brake friction lining

G AT TR B g B w7

(1) AT qEE B T

@) 3% W & g@E @ Ry emen ¥ w@F

() I T W UWE B A & SE

@ % v Mt A ReEe ® F9 W

Number of positive plates in a cell of Lead-Acid battery is :
(1) One more than the number of negative plates

(2) One less than the number of negative plates

(3) Two more than the number of negative plates

(4) Two less than the number of negative plates

e A0 ¥ @ A oo @S @ gEm o ¥

(1) TOTHE W B TS W um fuw

- (2) Wﬁﬁﬁﬁw@f@m-
(G) o Wi @ den A a‘raﬁm

“) wmﬁﬁﬁﬂw@ra‘rm

27 A] ' o 4 - - {_':Cbntci_.;.
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The battery test which is similar to the s:tuatmn produced by the
startmg motor is :

(1) Specific gravity test (2) Open voltage test
(3) High discharge test (4) Cadmium test
Wi Wt & waw TRl S B anh S o 3
(1) fafdre o @i (2) gl e wia
() = Rt s, ) Ffraw st

How many diodes in all are used .in the alternator used in vehicles 7

O 2 (2 4

(3)6 | | @ 8 |
Tl ¥ g A AW o ¥ g et e wd Red Wy ¥
M 2 @ 4

® 6 @) 8

Why Relay’ is fitted in horn circuit ?

(1) To increase the sound intensity of horn
(2) To protect the horn button |

(3) To reduce the voltage in the circuit

(4) To blow the horn intermittently

9 ofaw ¥ R T R E P -
(1) ¥ o o e R b R |
@ o w F A

®) g ¥ e T

R -i.(4).:_-. w ngﬁﬁ'ﬁ% .fm .

‘7AYo T e - [Cond
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A bus can not move because two gears engaged simultaneously in the
tiynsmission gear box : ‘

Most probably, the fault is in

(1) Gear selector mechanism (2) Gear Interlocking mechanism
(3) Synchronizer ' (4) Reverse gear

0% @ & TR AR 9| ¥ ue wg @ PR @ 8@ S % anv
¥@ W '@ & |

gattus geT W & gwdar §

(1) PR T damEea o 2) R srlaw deaen A
() RN A 4) fad fax &
‘For regulation, an alternator have :

(1) Current regulator and voltage regulator both
(2) A current regulator and a cut-out relay
(3) A voltage regulator and a cut-out relay

'(4) A voltage regulator only

0 eweael A P g o ¥

1) =x Prrw o fva Pames

2 = ux Frame iR ww we-oee fia
(3) T fova tETe SR T de-aee [
@) %rciaqaiﬁqaﬁamas

When removing the battery from a negative earth return system wvehicle,
disconnect :

(1) grounded terminal cable first
(2) positive terminal cable first

(3) both terminal cables together
(4) ignition coil terminal cable first

ww&u‘r&mwmﬁaﬁwﬁ%mﬁmmﬁ
R &%

(1) 9 aifwg <fFa o wsd
@) W i A
@) A < e wm ¥

@ Wﬂ@"ﬁﬁﬁzﬁﬁﬁmﬂ'@ﬁ

27 A S 6 . [Contd..
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110 Match List - A with List - B and select the correct option :

List -. A (Electrical Dev:ce) List-- B (Electncal Symbhl)
() Bulb P) ‘_“IE

® Logeapdor @ ()

(©) Fuse ® ”J“ o
(d) Earthing S) /=

Options are as follows :

(1) @Q, B)-®), ©«8), (d)-P)

2) @-(Q), ®)-(8), (c)-R), (d)-P)

() @-R), ®-F), ©Q), (@)S)

@  @-(Q), B)-P®), (9)-R), ()S) |
T - AH g - B ¥ ¥y fme 9fm @ 98 e gfm

T - A (Rga 3) T - B (fgg wis)
(@) | ®) J____ -

() T dufe (Q)®

© wT (R)”lﬂ

@ o e ==
I%E:Wfr‘lwgm?% | |

B @Q, OHR), ©6), @)

@ @HQ, BHS), @-R), @)

O O®.OE, @ @6
@ @ Q) (P) © ®. O

FTAL e [Contda
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111 Odometer is an instrument which measures :
1) Fl;él -consumpt-ion' (2) Pressure ‘éf lubncatmg oil
(3) Speed of the vehicle (4) Distance travelled by the vehicle
R Qﬁ. UGl ¥, A AGH T
(1) ¥ @ 2) wr® I @ T

(3) U @ U @ aeT o @ gl

112 The type of reflector used f‘or automobile head lamp is :
(1) Spherical (2) Parabolic
(3) Hyperbolic (4) Plain / flat
dErEEE ¥ ww & fin Reewe [ woeds & wer e ¥ o
(1) THR (2)  uEaiis |

3) efauEatas | 4) €Rl [ 99w

113 Hand brakes in cars are usually :
(1) Mechanical brakes (2) Air brakes
(3) Hydraulic brakes (4)  Vacuum brakes

R ¥ T8 oW TG B OE

(1 =ite s\ (2) g "
0 W @ P
27A] ' | '. o 48;'_-_ _. - {Contd;;.'
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114 The rear suspension system of. a tractor is :
(1) Leaf spring type '
2) Cotl spriﬁg type
(3) Independent type
(4) Not provided (No suspension system is used)
wF e B fed adig yomeh ot ¥
(1) &% BT T
(2) wiza R ¥R
(3) wWAT BN
4 @ fow el @ TS SR

115 The electrolyte used in Lead-Acid battery is :
(1) Sulphuric acid and lead
(2) Distilled water and lead
(3) Sulphuric acid and distilled water
(4) Only distilled water '
drar-ord <, F vgea  soeeoEe, BOn §
(1) 7ivw @ ovd AR Qi |
2) omafa ww ol dmn
(3) vium H oW ol ERE wiW
(4 PHaw FA@ER oW

116 "Brake bleeding process removes
system".

Correct option for the blank space above is :

(1) Excess pressure Q) A1r

(3) Excess ﬂuid 3 . .:- @) Vacuﬁm
3w R o, i A T AR
v e @ 3y wh P &

) ehw (2) Lo
G) aﬁhm ™o @ ﬁa‘ia
mA e

. www.upscstudymaterials.cem.

from the hydraulic braking
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_ 1 1’? The most popuiar steering_ gear b.o_)-c __.fqrhc;e-l‘r“s-.m.today, 1s :_ .
() Worm and Nut type () Cam and Lever type
(3) Worm and Wheel type (4) Rack and Pinion type
Aed wR o waitts yatea 2attr fae sew
(1) ¥ wd 7T WK (2) % wd dEX ¥R

(3) T T = TEK @ Y @ e R

118 Consider the following statements :

() As compared to manual steering, the steering effort applied by the

driver, is more in power steering.

() As compared to manual steering, the steering gear ratio is more in
power steering.

Select the correct éption Jjor the above statemenis':

(1) (D and {II) botn are true (2) (D and () both are false
3) (@) is true, () s false 4y Q@) is false, (II) is true
e wel W fEw a?ff@lq :

.. Agem Wrftr Al gu #, otid €rien ¥ uee 2] W T
| wrfor o afus g ¥

(D) Fgaw =it & g ¥, gt Lafon § Saitn frr g et
BT ¥

) D A v ¥ @ O w () A e ¥
) Muay ) owEt @ (D) o ¥ () w d

27 Al . - . [Contd...
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A centrifugal pump will start delivering water only when the pressure rise -
~in the unpeller is equal to or. greater than the :

{1) Kinetic head 2y Manometnc head
(3) Static head (4) Velocity head

wmﬁwmwﬁqﬁmmmmé,mm
¥ g i st w ot ® e

Q) e o @ (2) TEEdE 9 @
(3) Wi i @ ¥ AR

During throttling process :

(1) Pressure does not change

(2) Enthalpy does not change

(3) Internal energy does not change
(4) Entropy does not change

AT WhH & RN :

(1) <= qfEida & s

(2) v wfafda & o=t

() oiaR® = qRaka W@ a@
(4) welt aftaidr ==t ek

Which one of the following statement is a False statement ?

(1). Wheel track can not be changed by using a reversible wheel.

(2) In spoked wheels, the spokes bear all type of loads in tension only.
(3) Tubeless tyres can not be used on spoked wheels.

(4) In zero-set wheel, the middle plane of rim is co-planer with the
mounting face of the brake drum.

ey ¥ A OF HYT oA F P
(1).maﬁu%qmmm%ﬁﬁ~imﬁuﬁaﬁaﬂ€rmmmi

4@ g v ¥

) .Wmmﬁq%ﬁwmﬁamwmﬁﬁmmml:l'_ __
- _(4)'afaﬁﬁzq%r{ftﬁqaﬂnwaa aﬁw%mm%wﬁ“"

%“ﬁn %l -

- -.www.upscstudymaterials,com = -




www.upscstudymaterials.com

122 What is adjusted while doing the wheel alignment of Maruti 800 car ?

(1) Camber | (2) Caster

@) Toe-in (4) Steering axis inclination
Al — 800 B w1 WA WXGT HA @R F1 @R fear W d ?
(1) X () BT

@) -5 @ St o g

123 What is represented by the number 80 in "155/80-R-14" ?
(1) Percentage ratio of tyre section height and width
(2) Percentage ratio of tyre section width and height
3) Outer diameter of tyre (in centimeter) |
(4) Percentage ratio of rim width and tyre section width
"155/80-R-14" W o 80 & w0 Fn Prefm fewm ww ¥ 7
(1) = o i S9E TE e @ wRwE o
2) AT AT W AR T SuUR @ v S
() TR H TF FW @R F)
@) T @ 98 w o Wi @ ded @ whew 9w

124 A tyre is designated as “9.00-20-12 PR". The rim diameter will be :
(1) 9 inch (2) 12 inch
3) 20 inch - (4) 38 inch

WE TAX "9.00-20-12 PR" wetE ¥ fm = oo

1 95w @ nw
@) 0% @ s
"'2'7_'51 | o s [ Contd...
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125 What is the correct sequence of different steps of cold ‘tyre retréading ! -

(1) Buffing — Inspection of casing — Tread mounting s Thermal curing

(2) Buffing — Tread mounting — Thermal curing — Inspéclion of casing

(4) TInspection of casing — Tread mounting — Buffing — Thermal curing
Mo orx feRn & i ool e s mr ¥ 7

(1) T > FRit N AW > T WA - AW TER

@ amaazamsmqw;asfﬁwwh

(3) %ﬁwﬁﬁh'q'aﬁ?ﬁéi@ﬁmammﬂﬂ

@) ¥R H Ww - I W - T 5 AW TER

126 The purpose of tyre rotation in vehicles, is :
(1) Better ride  {2)  Avoid ply separ_ation
(3) Equalize wear | | (4) Direction stability
T ¥ T W v ook ¥
O o m‘-q_m S

','--'(3,)' WW . '_."(4) fom wfim

WWW."upsqstudymat_e-rmls_.'_com

(3) Inspection of casing — Buffing — Tread mounting — Thermal curing

derermsie L. an .

s el A

bt . N PR . . e LPL e ——— e e
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Consider the following statements regardmg radial ply tyres as compared
to cross ply fyres :

() Comnering force as weIl as self rightning torque are higher for radial
ply tyres.

() While taking turns, a radial tyre has more tendency to lift of the
road from one side.

() We get uncomfortable ride at low speeds with radial ply tyres.

Select the correct option for the above statements :

(1) (@) and (II) are true (2) (W) and (I} are true

(3) (@) and (III) are true (4) (), (II) and (III) are true

B W AU B gon F AT @ T 4 w=iim e e

R AR

O Ruw <8 T F DG 9@ 90 @ ers €8 <Rl ot
B )

Ru OE Srd a9, ’{%ﬂaw%mi’rmﬂ%@aﬁ'{ﬁm

A waht o o ¥

mwwmawmwﬁmmmh

srie @l 3y @ faer g -

(D O @) Fa @ M w& () &7 ¥
() (@) ed {1I) w&e-® 4@, @) Ty v €

Consxder the following statements :

(I) An over inflated tyre wears the most at the centre part of the tread.
(II) An under inflated tyre wear the most near the edges of the tread.
Select the correct option for the above statements :

(1) (D True, (II) False (2) (D False, (II) True

3) (D and () both True (4) (D and (I) both False

fr Tt | RrEr @it

® qmar&msmgmaamm‘{ a—s%swwwﬁaﬁmfham%r
() @ma@mwm,i@rﬁaﬁﬂﬁ%meﬂ%m%y

M O MEE @ O, @) ¥
G O ) w @ @ T () A o
27 Al | : 54 N _ [Contd
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75°C=........%, the corréct option for the blank space is :

O 736 @) 1926
G) 774 @ 1670
750C=........oF, Raw @M ¥ ad Reww

1 736 ' @) 192.6
@ 74 @ 0

Which one of the following equation is correct ?

(1) Gauge pressure = Absolute pressure + Atmospheric p'l"essure

(2) Absolute pressure = Gauge pressure + Atmospheric pressuré

(3) Atmospheric pressure = Absolute pressure + Gauge pressure

(4) Absolute pressure = Gauge pressure -+ Atmospheric pressure

P ¥ ¥ I wlw @Y7

(1) vl ww = ﬁl’(&ﬂm-:-mgqﬂsfrham
@ g @) = v <@+ IgETEA 9|
() agusdiy T = Frdg T o+ oyl T

@ ﬁﬁﬂw=wﬁrm_+fq’lgqﬂéihaaﬁ |

131

s fitted on the rear end of crank shaft."
The correct option for the blank space is :

43 Craﬁk-'-Gear | ' (2)  Pulley for water 'pu_n.r_ip
3) Vibratlon damper - (4 Fly wheel

‘ham%sﬁmﬁﬁﬁv{____ﬁﬁ@m%l”
ﬁﬁ%égaa?ﬁmé

B ,-;(1) aﬁ;ﬁm (2) Gﬁrwﬁsﬁmgﬁﬁ
(3) Rt emqazs (4) qm:{ z&a | -
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The capacity of battery used in vehicles, i1s usually expressed in :
(1} Voiis ' " (2} Amperes

(3) Ampere - Hour ' 4) Watts

TEAl A TE BN 9l el @ guen & gWrad: g S oo
(1) 9w F - (2 A A

(3) uwdmT-HEa ® 4) T ¥

For a good qﬁality lubricant, constder the tollowing statements : )

() Change in viscosity should be minimum with the change in tempernature.
() Specific heat should be low.

(1) Flash point should be high.

The True statements from the above are :

(1) @ and () (2) (D and (1IN

(3) (D and (D) 4 (), (1) and (D)

TH oSl PEAl & Ted 8g, MmOl ) ER @iy

@ e ¥ wiads & 9w samen ¥ gaaw uiads @A =)
m Ry o sw o @i

() s e €1 il

TRiFT # & 99 d97 ¢ -

1 OVeEn (2) 11 GIV = G
G O s @ @ O (g (I
134 The Air-standard efficiency of Otto cycle is given by :
1 1
@ @ "I
Sl —— —
@ T @ Ty
A TH B AY-ATE TG ERR 3
i 1 L
m " _(r)'f—l @ N° _(r)"!—l
_ .1
@ T @ T
7Aoo [ Contd...
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In pressure lubrication system of an engine, the maximum oil pressure is
controlled by :

(1) 0il pump (2) Oil pressure gauge
(3) Oil pressure relief valve .  (4) Oil filter

Th I bl 7@ WET WOl A aiftmaw AW @ Prifa e &
(1) I ™ Tu (2) AW T W g
(3) oW @ Rew 9Fa T @) <« T T

In vehicles, the prime exhaust pollutants other than hydro-carbon, are :

(I) CO and CO, (2) €O, and NO,
(3) €O, and H,0 (4) CO and NOy
Tl A EEE-eET & ofifed org Yer Pewr wgw eRe § o
(1) €O = COo, (@ €0, W NO,
(3) €O, T H,0 (4) CO W NOy

If 11;,, Brake thermal efficiency
M= Indicated therma! | efficiency

and M, = Mechanical efficiency

which one of the following is correct relation ?

1O M =m,; XN, @ "M, =", X0,
BG) My =My xT, @ n,=n,/q,
Ak M= % Wi T

N,= R afa e

;_'Q‘q; n-—mmﬁ ?ﬁ

ﬁwﬁ%ﬁwwmaﬁ’r% ?

_(1) n:r “btxn . . (@ M, ;.-..it:x_"b_r
R A] s (Contde
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138 Hydraulic Brahma's Press is based on : -

(1) Bermoulli's Th-eorem. Z) Continuity equ;iﬁon
(3) Pascal's law (4) Darcy law

72 e wem ¥ ot ¥

(D.’q’Fﬁﬁﬁﬁifﬁ@lv—dﬂ'{ (2) waE TS W

(3) U & FEm (4) st R )

139 The range of compression ratio for petrol engine is :
(1) 12-20 ) 6-10
(3) 20-25 | @ 3-5
W o % frg wleT ogee & T A E
(1) 1220 2) 6-10
(3) 20-25 . EE!
140 In a four stroke engine, for how much angular displacemefgt of crank shaft,
the exhaust valve actually remains open ? '
(1) 180° (2) More than 180°
(3) Less than 180° (4) 360° )
wH agew fow § Pow uawa, Fw s ¥ e gl e @
. ana ¥ g @ ¥ 7
(1 1800 | @ 18°F af&ﬁ
Gy 1sed w4 '3_606 | B
I_27;A]__ . '_ - o 58 | | [Contd...
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141 In which chapter of Motor Vehicle Act-1988, the section related to necessity
of wearing protection head gear while driving motor cycle, is referred ?

(1) Chapter 2 : (2) Chapter 3

(3) Chapter 4 ' ~ (4) Chapter 8

WX TR T W GRS A e @ ol SRl ar @
- TWW AR AW sfufrm, 1988 % e emm F Remr wm ¥e

O wmm2 @) o= 3

() «=y 4 (4) oA 8

L}

142 As per the Motor Vehicle Act-1988, for how lo’iig time period, the certificate
of registration of a motor vehicle remains legally valid from the date of

issue ? _
(1) 10 years (2) 15 years
(3) 20 years (4) 25 years

HieT A afyfrm, 1988 & orgar fel Wy aw &1 GolwRer ST,
ﬁrﬁﬂﬁaﬁmﬂﬁ:ﬂﬁrwﬁaﬁmw% T

O 10 @) 15 =k
(3) 209§ @ 25 =k

143 Out of the following, what is necessary tor the road worthiness of a
vehicie ? :

() Registration of the wvehicle
(I) Appropriate rbad signs on the road
(l]l). Effective braking system of the vehicle
Which one of the following is correct option for the above question ?
(1) (D and () (2 (D) and (N
() () and () @) @, (I) and (I
TH AT W A IUgEE 3g PR N 4 w1 omEvaw ¥ 7

@ T A v A

| oW w7 g Py F  wh P w7

Lo oW @ @wan

e owa . @ @oowa

2 Al . [Contd..
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144 The road sign'sl‘lo\irmg' the width limit of vehicle is a :

(1) Mandatory sign ° (2) Warning sign

(3) Informatory sign (4) Line marking on road
T R e e <y an wew R o

(1) o e | (2) wae faw

@) Tes R @ woF T @i

145 What is not included in daijy pre-driving inspection of a car ?
(1) Checking the lubricant level in engine
(2) Checking the coolant level
(3) Checking the brake fluid level
(4) Checking the lubricant level m differential

% HR B AR weqd Wi ¥ T gtdfed @ ¥ ?
(1) ¥ F e @ W Sl

@ s @ W

(3) ¥% ®a @ W Sigal

@) FRhlma ¥ T w1 wWC S

146 In Motor Vehicle Act-1988, "registration of motor vehicles” is in which

chapter ?

(1) Chapter 1 {2) Chapter 2
L3

(3) Chapter 3 (4y Chapter 4

Al e AT o, 1988 % @ o A ¥

(1) o= 1 - (2 w2
@) w3 @) o 4
7Al o e  [Contd.
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The fifth chapter of Motor Velncle Act - 1988 is :

(1) Constructlon, equipment and maintenance of llnotor vehicles
(2) Control of transport vehicles

(3) Registration of motor vehicles

(4) Offences, penaltiés and procedures

A 9 oifufwm, 1988 @1 uiedf atemg ¥

(1) #RT A IO, I9@L U S

2) wRaea Al w1 Fema

(3) ¥iex Trl @ el

(4) omuy, wRkaar gar wiea

A Carnot engine working between 367°C and 47°C temperatures, produces
150 kJ of work. What will be the heat added during the process ?

1 150k @ 112
G) 300K A4 320 KT

e FHE §94, W fF 367°C wd 47°C Ao & WA & wean &, 150 kJ

®E TGN B B VA & W N N wHeT s e ¢
(1) 150 kJ 2 172k
(3) 300 KJ @ 320K

The procéssés used for air-conditioning in summer (hot and humid
condition), are : '

(1) Heating and humidification (2) Heating and dehumidification

(3) Cooliﬂg and humidification (4) Cooling and dehumidification’
it (wqaanﬁwm)ﬁaﬁw%gma%aﬁmﬁﬁﬁm%

_'(l)mq:rqaauﬁaﬂw (2)mq=rt{aaﬁniﬁm

(3) s?mqaamﬁaﬂw | (4) sﬁaﬁqamlﬁmw

27 Al ST _61'._ T [Contd
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150 If a closely coiled helical _spr'ing,of mean diameter D, is subjected to an
axial "los‘td,_ W, what wiil be the deflection of the sprng ?

4WD 8
M 5 @ B
3 4WD3n @ sWD>n
®) G G-d*
Where :

d = diameter of the spring wire
n = number of active turns of the spring
G = modulus of rigidity of the spring material

e il D % U 9% FUSivd B WY Al @ AR WO W,
@ R w fege wmRR 2

awD SWD
- @ &
5 AWD3n s 8WDn
®) G @ G
el ¢
d = T % aX @ =@
= e A e guSREl B de
27 A} S e [Contdu
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PAPER-III(AUTOMOBILE AND MECHANICAL ENGINEERING)
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MVSI COMP EXAM 2013

SET_A | RES SET_A | RES
1 3 76 1
2 1 77 1
3 4 78 2
4 2 79 3
5 3 80 1
6 3 81 2
7 2 82 1
8 1 83 2
9 1 84 2
10 1 85 3
11 4 86 3
12 2 87 4
13 2 88 1
14 1 89 4
15 1 90 4
16 2 91 2
17 2 92 2
18 3 93 4
19 2 9 3
20 3 95 2
21 2 9% 2
22 4 97 1
23 1 98 3
24 3 99 1
25 4 100 4
26 1 101 1
27 3 102 3
28 3 103 2
29 3 104 3

""""" A~ AW A
30 3 105 3
31 1 106 2
32 1 107 2
33 3 108 4
34 1 109 1
35 4 110 1
36 1 111 4
37 2 112 2
38 4 113 1
39 3 114 4
40 1 115 3
41 1 116 2
42 1 117 4
43 4 118 2
44 2 119 2
45 2 120 2
46 2 121 1
47 3 122 3
48 1 123 1
49 1 124 3
50 4 125 3
51 4 126 3
52 3 127 3
53 2 128 3
54 4 129 4
55 2 130 2
56 4 131 4
57 3 132 3
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